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#1.(30 &)

B AB=ANB, % BKA&B b2 rimA

(a) f11% P(B) = P(A[B) = P(CIAB) = 1/2, # K. # P(ABC)?(10 %)

(b)E 3% P(A)=P(B)=P(BJA)=1/2, #iERN AR BAFHL. 10 o)
©RARBRKE, BPA)=12, % P(B)=1/4, # X%t P(AUB). (10 &)

#2.(20 o)

@BREZ=a X, to,X,+o,X;, H o, to,toy=1. Bk var (X)) =2,
var (X)) =3,var (X;) =2, & cov(X,,X;)=-2, cov(X,,X;)=-1,
cov (Xp,X;)=-3. WHH TR var (Z)Rh#) 0,0 B 0y (15 4)

G- ERNEAE LK () HFE 2 KA. S )
#3.(20 %) .

BIRH €8 X‘=¢°+¢|X‘_l+€‘-98(_|_ B -1 <¢| <1 BAMESHL B,
E(e) =0, var (g) = 0?, cov(g,e) =0 A FTH &5 t (I t=5).

(a ¥ E[X]= - (5 7)
® Fil p()=covX, X )/varX)=____ (15 %)

#4. (30 %)
B Y, =pX, te BI#f X, R—EIEMKRE  X20,E[e]=0"

var () = o, E[eg] =0 t=#s: R E[Xg)=0 BAMAF t fvs. & b=7 #o

1]~

Trx :
by = ! 2: A B & %18 K ) 4945 31 K (estimator)
X
t

(a) ¥ & E[b,]and E[b;] (10 %)

(b) H-t var (b)) Flvar(b), BuEAA—@bit-h? (10 %)

(©) WRAZ(Y,-bX)X, =0 RFRL? HWAL(Y,-bX)X, =0 RF R IL?
(10 o)




